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(1) A : What do you do in your free time?
B :Ioften( )to music. HA
7 make 1 go 7 listen T get

(2) A :Lookatthe picture ( )the wall. [HEYRR
B : Oh, it’s beautiful.

7 at 4 on 7 in T about

(3) A : Your father and my father ( ) good friends.
B : Really? I didn’t know that.
7 s A4 am 7 are T likes

(4) A : Areyourshoesnew? Ilike( ).
B : Thank you.

Tt A them 7 that =T there

(5) A : Do you know the boy? L ~)L 10
B : Yes, he’s ( ) Australia.
7 visit 4 come 7 in = from

(6) A:Who( )thispizza? It's very good! eI
B : Ken did. He’s good at cooking
7 s A are 7 cooks T cooked
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[1] %o (1) ~ (5) OxfeEEFA, ZMICADSHEL LTRLEN R DA, T~=
MBIEY, ZORLFEEZLIN,

(1) A : What do you do in your free time? -8
B : T often ( ) to music. ]7
7 make 1 go 7 listen T get
<HER>A : HEFFRGEEE, MELEITH, 7 ~%%d 4 11<
B AAdk < BREBEEET, v B I ~EFIEARD
(2) A : Look at the picture () the wall. HZ
B : Oh, it’s beautiful. /r

7 at 4  on 7 in T about

<KER>A : BlIhN - TS (BE) 2RTLEEL, 7 o~ (B 124 ~IZ (ELTW3)
B:Eh.,. ENLNTT 1, o ~OFZ I ~IIDT

(3) A : Your father and my father () good friends. x5z
B : Really? I didn’t know that.
7 is A am 7 are T likes ]7

<HR>A  FADRBEHLET-ORBIELVRETT, FEEH Your father and my father (48

B: A&TIM MYFLHATL, B) TOT. be BaAld are ZE S,
(4) A : Areyour shoesnew? Ilike( ). =
B : Thank you.
7 it A them 7 that T there A
<HEBR>A - FHLWLWIYTITD, 7 Enz 1 ETho#
TTCETTR, FEZNSLFETT,) 7 Eh% I %C°T

B:HUhED,
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(5) A : Do you know the boy? L ~L 10
B : Yes, he’s ( ) Australia.

=Z
7 visit A come 7 in T from
Y
<HIR>A : HOLEEHM>TLETH, 7 ~%iHhd A4 kD
B: XL\, RIFA—R+FZUTFTHETT, 7 ~®OHIZ I ~h5
(6) A: Who( ) this pizza? It’s very good! =z
B : Ken did. He’s good at cooking
7 is A are 7 cooks = cooked I
<HKER>A HENZDESZEL=DTT H, TOOIR#ETT A1 EVWSIEXTIHAL,
ETHHELLLTY, MM~ LIzDTTh] EVWIEXEL

B:%72TY, KIIMENFETT, HIBT L. I cooked ZFiRYT 5,




